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Chapter 14, Solution 22.

20=20log, k — k=10

A zero of slope + 20 dB/dec at w=2 —— 1+ jo/2

1
A pole of slope - 20 dB/dec at o= 20

1+ jw/20
I
e of slope -20 dB/ = :
A pole of slope fdec at =100 —— 1+ o/ 100
Hence,
10(1+ jw/2)
l{w)=— :
@)= 05 7072000 + jo/100)
4 r9 4
H{w) = lﬂ' (-+_‘|UJ].
(20+ jo)(100 + jm)
10* (5+2)
His)=
(5+20)(s+100)

Chapter 14, Solution 24,
Curve is misdrawn, it should start at 40dB and come down to 20dB (not 0dB as shown)

40=20log,, K —— K=100
There is a pole at ®=50 giving 1/(1+jw/50)
There 15 a zero at =300 giving (1 + jw/500).
There is another pole at ®=2122 giving 1/(1 +jw/2122).

Thus,
] -
L00(1+ j@ / 500) 100 =5 s +500)
)= i i/ 2122) l | h
(1+ jar/ SOY1+ jr/2122) i (5+50)(s+2122
oar
213 o N
H(s) = 21:220(s +500)

(s+50)(s+2122)



